Theorem 6

[image: image2.wmf]Angles in the same segments are equal.

1.
Construct the radii from A and from C to the center. Call this center E. Comment, with proper geometrical reasons,  on the relationship between the size of angle AEC and angle ABC.

______________________________________

____________________________________________________________________________

2.
Comment on the relationship between angle AEC and angle ADC.

________________________________________________________________________

________________________________________________________________________

3.
Using the results from 1 and 2 above, comment on the relationship between the size of angle ABC and angle ADC.

________________________________________________________________________

________________________________________________________________________

4.
If angle ABC is 
[image: image1.wmf], determine the size of angle ADC.

________________________________________________________________________

This theorem is called the bow tie theorem. This name should never be used as the geometrical reason for statements.

�








_1045584450.unknown

